

NAME: OMOYIBO AMUEJEVOKE PREVIOUS
 MAT No: 15 (EN1404/045)
 DEPT: ELECT/ELECT ENGR.
 COURSE: EN14 381

Assignment Solutions.

1. If $y = e^{x^2+x}$

$u = e^{x^2+x}$ $v^0 = 1 \Rightarrow v^{(1)} = 0$

$u^n = (2x+1)^n e^{x^2+x}$

$y = u^n \cdot v^0$

$y^n = (2x+1)^n e^{x^2+x} \cdot 1$

$y' = (2x+1)^1 e^{x^2+x}$

$v = 2x+1, v' = 2, v'' = 0$

$u^n = (2x+1)^n e^{x^2+x}$

$y'' = u^n v'' + n u^{(n-1)} v' + 0$

$y'' = (2x+1)^1 e^{x^2+x} \cdot 2x+1 + n(2x+1)^{(n-1)} e^{x^2+x} \cdot 2 + 0$

$y'' = (2x+1) e^{x^2+x} (2x+1) + 1 (2x+1)^n e^{x^2+x} \cdot 2$

Recall $(2x+1)^1 e^{x^2+x} = y'$, $e^{x^2+x} = y$.

$y'' = y' (2x+1) + 2y$.

Prove that $y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$

where $w = y''$

$y'' - y' (2x+1) - 2y = 0$

$w = y''$, $u^n = y^{(n+2)}$, $v = 1$, $v' = 0$

$w^n = u^n \cdot v + 0$

$w^n = y^{(n+2)} \cdot 1$



$$W_n = y^{(n+2)}$$

where $w^n = (2x+1)y$

$$u = y', u^n = y^{(n+1)}, v = 2x+1, v' = 2, v'' = 0$$

$$W^n = u^n \cdot v^0 + n u^{(n-1)} v^1$$

$$W^n = y^{(n+1)}(2x+1) + n y^n \cdot 2$$

where $w^n = 2y$

$$u = y, u^n = y^n, v = 2, v' = 0$$

$$W^n = u^n v^0$$

$$= y^n \cdot 2$$

$$= 2y^n$$

$$\therefore y^n = y^{(n+2)} - [y^{(n+1)}(2x+1) + n \cdot 2y^n] - [2y^n] = 0$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + n \cdot 2y^n + 2y^n$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2y^n(n+1)$$

2. 1. $y = x^3 e^{4x}$ determine $y^{(5)}$

$$u = e^{4x}, u^n = 4^n e^{4x}$$

$$v = x^3, v' = 3x^2, v^{(2)} = 6x, v^{(3)} = 6, v^{(4)} = 0$$

$$y^n = u^n \cdot v + n u^{(n-1)} \cdot v' + \frac{n(n-1)}{2!} u^{(n-2)} \cdot v^{(2)} + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} \cdot v^{(3)} + \dots$$

$$+ \frac{n(n-1)(n-2)(n-3)}{4!} u^{(n-4)} \cdot v^{(4)}$$

$$4!$$

$$y^5 = 4^5 e^{4x} \cdot x^3 + 5 \cdot 4^4 e^{4x} \cdot 3x^2 + 5(5-1) 4^{6-2} e^{4x} \cdot 6x + \dots$$

$$+ 5(5-1)(5-2) 4^{6-3} e^{4x} \cdot 6 \neq 0$$

$$y^5 = 4^5 e^{4x} \cdot x^3 + 5 \cdot 4^4 e^{4x} \cdot 3x^2 + 5 \cdot 4^3 e^{4x} \cdot 6x + \frac{5(4)(3)(2)}{3!} e^{4x} \cdot 6$$

$$y^5 = 4^5 e^{4x} \cdot x^3 + 5 \cdot 4^4 e^{4x} \cdot 3x^2 + 5 \cdot 4^3 e^{4x} \cdot 6x + 5 \cdot 4 \cdot 3 \cdot 4^2 e^{4x}$$

$$y^5 = 1024 e^{4x} x^3 + 3840 e^{4x} x^2 + 3840 e^{4x} x + 960 e^{4x}$$

$$y^5 = 64 e^{4x} (16x^3 + 60x^2 + 60x + 15)$$

ii. $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$. Show that

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1) y^{(n)} = 0$$

$$x^2 y'' + x y' + y = 0$$

$$w^n = x^2 y''$$

$$u = y^{(n)}, u' = y^{(n+1)}, v = x^2, v' = 2x, v'' = 2, v''' = 0$$

$$w^n = u^{(n)} v'' + n u^{(n+1)} v' + n(n-1) u^{(n-2)} v'' + n(n-1)(n-2) u^{(n-3)} v''$$

$$v'''$$

$$w^n = y^{(n+2)} x^2 + n y^{(n+1)} 2x + n(n-1) y^{(n)} \cdot 2 + 0$$

$$w^n = x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^{(n)}$$

$$\therefore x^2 y'' = x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^{(n)}$$

$$u = y^i, \quad u^n = y^{n+i}, \quad v = x, \quad v' = 1, \quad v'' = 0$$

$$w^n = y^{n+i} \cdot x + n y^{n+i-1} + 0$$

$$w^n = x y^{n+i} + n y^n$$

$$\therefore x y^i = x y^{n+i} + n y^n$$

$$u = y, \quad u^n = y^n, \quad v = 1, \quad v' = 0$$

$$w^n = u^n v + n u^{n-1} \cdot v'$$

$$w^n = y^n$$

$$\therefore y = y^n$$

$$\therefore y^n = x^2 y^{n+2} + 2xny^{n+1} + n(n-1)y^n + 2xy^{n+1} + \dots + ny^n + y^n$$

$$y^n = x^2 y^{n+2} + 2xny^{n+1} + xy^{n+1} + n(n-1)y^n + \dots + ny^n + n$$

$$y^n = x^2 y^{n+2} + (2xy + 2xn) y^{n+1} + [n(n-1) + n+1] y^n$$

$$y^n = x^2 y^{n+2} + 2xy^{n+1} (2n+1) + (n^2 - n + n + 1) y^n$$

$$\therefore y^n = x^2 y^{n+2} + (2n+1) xy^{n+1} + (n^2+1) y^n = 0$$

